(0 @) (rad)

a(d cot(d))

1072

1073

,_.
S
L

.3

=
<
[

SICEWATL

"""""" e T T

e Ll

P SRR DA SRR 4o T
r % : 1
r . . . -+ T
F Ve : : %

2 3
TPlp?T (PCA t%obeamliné'p

.

o p/p.)

,_.
<
L

Ratio

1071 1

I 2 3
TPlpg)T (PCA t%)obeamlin%)o

LA oo
= [
14 r ]
: E E T 05-_ ........... :
O *..... R P B L :
Ik : + L Tt
10 0? - 10° 107 1 10 0? - 10°
TP, (PCA t% beamllnef) TP, (PCA t% beamllnef)
—=— DQMstep3_QCD_CKF
—e— DQMstep3_QCD_default
—— DQMstep3_QCD_defaultNEWT
£
e
o>
=2
o




	Contents
	Page 1


